6. CODE REQUIREMENTS FOR SAFE GUARDS MUST BE OBSERVED.

o
NN
NN
: SN B
INE
KAWNEER 1600 WALL SYSTEM 1 I
99 9 3
2 1/2” x 7 13/16” CURTAINWALL SYSTEM T E
LEVEL E IMPACT RESISTANT o
e
4l R
HEE:
als|»
olm| ™
=l Y 17
wl|? e
Q=&
GENERAL NOTES: EEEEEREEE
TABLE OF CONTENTS > 0=
1. THIS PRODUCT MEETS ALL THE REQUIREMENTS OF THE 8TH EDITION m 2 85
(2023) FLORIDA BUILDING CODE, INCLUDING THE HVHZ PROVISIONS. SHEET | DESCRIPTION z I
2. THIS SYSTEM HAS BEEN TESTED PER TAS 201, 202, 203, ASTM 1886 5 3d
! ! - OTES SECTION NOTES
AND ASTM 1996 FOR LEVEL E LARGE AND SMALL MISSILE IMPACT 01 |SECTION 1 — GENERAL NOTES / Lu S o5
RESISTANCE. SHUTTERS ARE NOT REQUIRED. 02 |SECTION 2 — ELEVATION Z R=
S. DESIGN LOADS MUST BE CALCULATED BY A PROFESSIONAL ENGINEER OR 03 SECTION 3 — HORIZONTAL DETAILS I I I 8 g
ARCHITECT FOR EACH PROJECT. THE DESIGN PRESSURE CANNOT EXCEED = ye— T F
THE PRESSURES LISTED FOR EACH COMPONENT OF THIS SYSTEM. Z z
4. WOOD BUCKS BY OTHERS AND MUST BE ANCHORED PROPERLY TO 05 |SECTION 4 — MULLION CHARTS AND REINFORCING DETALLS
TRANSFER IMPOSED LOADS TO THE STRUCTURE. 58 |SECTION &5 — SLiZlNG DEALE — s TR 1
5. ANCHORS SHALL BE AS LISTED AND SPACED AS SHOWN ON DETAILS.
ANCHOR EMBEDMENT IN BASE MATERIAL SHALL BE BEYOND WALL 07 SECTION 6 — HEAD/SILL ANCHOR CHART AND ANCHOR TYPE 1 DETAILS
DRESSING OR STUCCO. 08 HEAD/SILL ANCHOR CHART AND ANCHOR TYPE 2 DETAILS §

09 SECTION 7 — BILL OF MATERIALS 'n_:N
7. THE GLASS CHART IN SECTION 5 IS BASED ON TESTED PRESSURES AND > e —— 32
ASTM E 1300-16. el z%
8. MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT Sk
COME INTO CONTACT WITH DISSIMILAR MATERIALS SHALL BE SEPARATED TO ;5
PREVENT GALVANIC REACTIONS PER FBC REQUIREMENTS. §§
(@]
g
n=z

RS “mm”“’:"/,,

{:‘\% A

S |

SYSTEM NOTES:

GLASS e, SEE CHART ON SHEET 06 FOR ALLOWABLE GLASS
TYPES, SIZES AND DESIGN PRESSURES.

MULLIONS v, SEE CHART ON SHEET 5 FOR ALLOWABLE O e
DESIGN PRESSURES FOR VARIOUS MULLION AND Y,y PRQ"‘@‘*
REINFORCEMENT CONFIGURATIONS. 2

JAMBS ..o, SEE CHART ON SHEET 5 FOR ALLOWABLE DESIGN e 58
PRESSURES FOR JAMBS WITH AND WITHOUT
REINFORCING.

ANCHORS.....oveveeeeerennn. SEE CHARTS IN SECTION 06 FOR ALLOWABLE LOADS
FOR HEAD/SILL ANCHORS AND MID—SPAN ANCHORS.

SYSTEM. oo, THE DESIGN PRESSURE OF THE ENTIRE SYSTEM IS
THE LOWEST ALLOWABLE DESIGN PRESSURE OF THE
COMPONENTS ABOVE.

RGLLITT
N

(COA# 27194)
15211 97TH ROAD N

SCOTT WOLTERS

FL PE# 62354
WOLTERS ENGINEERING
WEST PALM BEACH, FL 33

PH/FAX:(561) 225-198!

PRODUCT:

1600 WALL SYS 1
2 1/2” LEVEL E
DWG:

1600—IR-LVLE
SECTION: 1

SHEET: 1 / 1 O




Z2600¢ VO ‘SSOMOYON

3Iva  |[#A3d|  ¥04 @3INSSI SLININd | WOD HIINMYM MMM = o
0z/81/71 = VILNEns 1St GGCS—61Y AOND ‘Hd 14N02 3J9AI¥HLND GSS - 2861-52Z (19G):XV4/Hd SL m (A V] ot
= = $SC 14 ‘HOvEE WIVd 1Sam| P N
e - ERemils | el ) |
- Y6LL
== =1 ANVJINOD DINODYV NV "7 ONINIINIONI SHLIOM mm =]
L = . Ss |
== = ¥5e29 #3d 1 5 Wm S .
—— = SYALTOM L10JS Do ol &
—— — =) = o5 — m m
©
i _ NG /AN zONE B =
T U

ELEVATION

RALEFTETTERS

Ab

OPENING DIMENSION

NOISNINIA ONIN3dO

™
>
| - P
9 ol
(]
« &)
N
>
@]
2 " B
: &
L R —
s =
5 ca| s
=z [ A
=) ] > (@)
_ 0p]
= 9 = % S
a a o
(2] | =
= E=
L M R
s> M= =
& Elo
[ <
muncu b h 5 ~—"
o
5|k
= .
o M% ﬂ n3 moo 2“
al®z =
wO
L
1%}
| &
%
S ]
- 2
1 D
e ™~
>
N —_—
L/l T
9 133HS NO L¥VHO SSV19
Z/1 T 07d 33S — 1H9EH 01d zZ/l 2
G 133HS NO 1¥VHO NOIMINW 33S
2/ HLON3T NOITINW/LHOIAH JNVA /L




o
N
HORIZONTAL DETAILS gg
[&]
ANCHORS PER 0o ] o
. CHART AND .
Q DETAILS ON | I\F |||||||||.&J
> SHEETS 7-8.
// /I/ I/ g %
| RS [ | ® :
(%]
! “ g 7/@ | | o | ST ;| § 5
N ) I~ 7] Z
> /l}g:l']@ | 'Q I Zatgl EEERRERCE
A1 < ® i | - 8 e==NIEC > B3
= |/ i~ \ w| 13 |/ 3 m : B8
= = o
3 T [/ ——— S N W I | =) 74 \ § 3%
o P A V\\\ / LLI 0 o%
\\ - Zz D;
= —K ®C 0 L L ) W
a 1IN & o
bl \ :
I\I Y N /\I Z <
T \—SEE GLAZING DETAILS N
{ . ) ON SHEETS 6. P SEE GLAZING DETAILS
ON SHEET 6.
”
7 13/16 ~— 3
& - 7 13/16" § ~
OO
o3
85
m o
=4/
" x
R ~ 7 13/16 - A A A g
2 \\“““““J!‘
3 J SEE GLAZING DETAILS o O
/ ON SHEET 8. . | Sgaites S,
| A ‘ | @ ‘ ',’:
e} 3 :
o A S = LJ " e 5
2 ; S ' eSO
- NROS e S B3
. I = 2 )¢ H I I P PO T
RN | ~ O I/Ji “ROS
. _ =g\ Teppggean®
o = 2 @ Y = / \IF—' ; g” -3
= A " / 0y Eoodl
5 3 \ y EY 2304
o_l m(.):ﬁ).('
" " e
Y N /\[ ha
g
T \—SEE GLAZING DETAILS PRODUCT:
Q ANCHORS PER CHART 3/ e
- AND DETAILS ON 7 13/16” 1600—~IR-LVLE
SHEETS 7-8. . SECTION: 3
SHEET: 3/10




o
NI
VERTICAL DETAILS 2| <
0o af o] ] e
*
il ) ] |§
&
STEEL REINFORCING PER STEEL REINFORCING PER b
JAMB CHART ON SHEET 5. MULLION CHART ON SHEET 5. = Q
Elo
S|4
m
|l
@ J / @ il ) ) o ] |2l &
gz% . 8z
Z ulo)o
0: =
[4 ﬂ = o i
/ / 2 ::
O =
4 4 o 9%
) =
I I I g S
= B
\ ’, y ) g £
oz ) o A
q \_ N l P g \‘ o
N (] N 5 E =2
A L oo
&3 ‘ @ ‘ 3
m af
L 4]
S ki \J |
e g N g ©G
X | \ \ ‘ 8S
\_ \_ o -4
SEE GLAZING DETAILS SEE GLAZING DETAILS
\ @ ON SHEET 6. @@ ON SHEET 6.
_21/2% | pLo ~po | 21/27 | pLo sy
3/4" B FW. -
~ 0.D. E
0 ST B2 B33
—t— T S aiF
5. Ba:
PRODUCT:
NOMINAL DIMENSION. PERIMETER SEALANT 1600 WALL SYS 1
WIDTH MUST COMPLY WITH MANUFACTURER’S 2 1/2’ LEVEL E
DWG:
RECOMMENDATIONS AND ASTM C1472. i 600—IR—LVLE

SECTION:

3
SHEET: 4/ 1 O




MULLION LIMITATIONS

MULLION CHART
MAX. DESIGN PRESSURE  (psf)
MULLION |MULLION |MULLION
HEIGHT| WIDTH | M1 M2 M3
(in) (in) (/) (1) (+-)
36 90 90 90
42 90 90 90
9% 48 90 90 90
54 90 90 90
60 90 90 90
36 - 90 %0
42 . 90 90
120 48 - 90 90
54 " 90 90
60 - 90 90
36 9 90 %0
42 . 90 90
132 48 , 90 90
54 - 90 90
60 . 90 90
30 - - 83
36 : - 83
144 42 - - 83
48 . . 83
56 ; ; 83
30 - - 77
36 - - 77
156 42 - - 77
48 - - 77
51 - - 77
36 - - 70
168 42 - . 70
48 “ . 70

MULLION M1

MULLION M2

72727 7727 222777 77 77

(SSSSSSSSSSSCSUIUTURCSONS

N
N

¢

AR VRARARARARARY
\ ]

MULLION M3

FRAME / MULLION HEIGHT

WIDTH 1 WIDTH 2

JAMB MULLION
INTERMEDIATE MULLION

7 7

JAMB MULLION SPACING = WIDTH 1
INTERMEDIATE MULLION SPACING = WIDTH 1 + WIDTH 2

12/18/20
DATE

JAMB MULLION CHART

MAX DESIGN PRESSURE (psf)

REV.#

1ST SUBMITTAL
PRINTS ISSUED FOR

2

JAMB J1 JAMB J2
1/2" to 3/4" 3/4" to 1" 172" MIN.
CAULK JOINT |CAULK JOINT |CAULK JOINT
HEIGHT | WIDTH WIDTH WIDTH WIDTH
(in) (in) (+1) (1) (+1)
36 90 90 90
42 90 90 90
96 48 90 90 90
54 90 90 90
60 90 90 90
36 90 90 90
42 90 90 90
120 48 90 90 90
54 90 90 90
60 90 90 90
36 90 90 90
42 90 90 90
132 48 90 90 90
54 90 90 90
60 83 90 90
30 83 83 83
36 83 83 83
144 42 83 83 83
48 72 83 83
56 62 83 83
30 77 7 7
36 7 7 7
156 42 61 7 7
48 33 7 7
52 49 73 77
36 52 70 70
168 42 45 66 70
48 39 58 70
™ o ;7;7;7
’
/
; £
5 )
/
s
il ﬁ 7

JAMB MULLION J1

JAMB MULLION J2

PH: (770) 449-5555
WWW.KAWNEER.COM

AN ARCONIC COMPANY

" KAWNEER

555 GUTHRIDGE COURT
NORCROSS, GA 30092

“\E“TIHNBJ,‘C‘,”

'y

EEETFPPIETEA o
5
% ZM o
= -
g¢ 5/\Qd|
0 +<"™un
9 Uao -
] Z—xITN
© OoN_ O
zN <™
B GoEnS
o *,\mg
Ed pso o
Q -
o _":’9'&2'5
0o
g T
ﬁn.

PRODUCT:
1600 WALL SYS 1

2 1/2” LEVEL E
DWG:

1600—IR-LVLE
SECTION:
4
SHEET:

5/10




LEVEL E LARGE AND
SMALL MISSILE GLAZING

3/4"

GLASS
BITE

GLASS TYPE 1:

1 5/16" INSULATED LAMINATED
1/4” TEMPERED
1/2" AIR SPACE (ALUM SPACER)

3/16" HEAT STRENGTHENED

0.180" SENTRYGLAS INTERLAYER

3/16" HEAT STRENGTHENED

GLAZING DETAILS

FBC 2411.3.3.1
COMPLIANT.

*

?

I/

[

)
~th

¥

5/8"
SILICONE

WIDTH

-

[ A AHL

\
T ,FE
O

Op

+(84

82

85

3/4"

—
GLASS

BITE

12/18/20
DATE

REV.#

1ST SUBMITTAL
PRINTS ISSUED FOR

GLASS CHART
GLASS TYPE 1(LEVEL E LMI/SMI)
TESTED DLO'S = 57 1/2"x92 1/2" (90 psf), 45 1/2"x116 1/4" (70 psf)
ALLOWABLE DESIGN PRESSURE (+/- psf)
DLO HEIGHT DLO WIDTH (in)
(in) 36 39 42 45 48 51 54 57 1/2
92 172 %0 90 90 90 90 90 90 90
98 1/2 90 90 %0 90 90 90 90 .
104 90 90 %0 90 90 90 . -
110 1/2 90 90 90 90 90 - - =
118 90 90 90 90 5 - - -
126 1/2 90 90 90 - - . = =
136 90 90 - - - - - -
147 90 - - . . - = .
84) *
82

)

5/8”
= SILICONE
WIDTH

*INSTALLER NOTE:

INSTALLER IS RESPONSIBLE
FOR ALL REQUIRED COMPATIBILITY REVIEW AND

APPROVALS WITH THE STRUCTURAL SILICONE
MANUFACTURER AND THE INSULATING GLASS
UNIT MANUFACTURER.

PH: (770) 449-5555
WWW.KAWNEER.COM

AN ARCONIC COMPANY

" KAWNEER

555 GUTHRIDGE COURT
NORCROSS, GA 30092

Wiy,

1 7
aMer Wy, ey

\‘“nuwg”!.‘

\Y l;
a\\“ * é:.l 95
“_\ -

o
e
4:# ¢ .

WEST PALM BEACH, FL 33412 O

SCOTT WOLTERS
FL PE# 62354
WOLTERS ENGINEERING T
(COA# 27194)
15211 97TH ROAD N =
PH/FAX: (561) 225-1982

PRODUCT, |
1600 WALL SYS 1
2 1/2” LEVEL E
DWG:

1600—IR—LVLE
SECTION:

5
SHEET:

6/10




HEAD/SILL ANCHOR DETAILS
ANCHOR TYPE 1 - 1800 Ib MAX REACTION

| MIN. EDGE

" DISTANCE

MIN. EDGE |

DISTANCE Vi

h2,/18/20
DATE

REV.#

1ST SUBMITTAL
PRINTS ISSUED FOR

PH: (770) 449-5555
WWW.KAWNEER.COM

AN ARCONIC COMPANY

" KAWNEER

555 GUTHRIDGE COURT
NORCROSS, GA 30092

<—
ANCHOR TYPES | MIN. EDGE ANCHOR DTYoPrEE ANCHOR TYPES
A B, or C ' DISTANCE ‘ D; E e F
.
LA
! ! a 4
’//(//////// L////// /IS4 I 27 K . <’
2?) i HT T
i i
| 18 2
Z
— I — g m I = g
e ————— — — — ] Y ——(———— E [T
A A
\/ \/
STEEL CONCRETE
A A A
\/ Y \J
r-———— - - a | i _I'_"__“______—,1
| |
r | r r |
| | | | |
ing i :
a5 - | H5 | |
VI DI/ 2L L ///I' /l l.
| ? a g a o
1 I . < . <,
| | g . . .
" . <
4 4
) 4
” 3 4” - 2 % ” .
4 /4" e, 3/4 ~ 7 N 3/4" 1,
~ ~
M M
=" E—— = ‘ e . e e 5
| | | | | | |
| | I | I | ] HEAD/SILL ANCHORS
! : L A ! . } h } } ® ; 5 MINEMBED | MIN EDGE
} : ] L } | } : - SUBSTRATE MARK TPE (in) DISTANCE (in)
! ! ! M ! ! ! ! M A 5/16" DIA. F-TYPE SCREW FULL 1"
| ! ! L M ‘ - ! ! gt M ! STRUCTURAL STEEL (Fu=120 ksi min)
. , P 7 ] (1/4", A36 min) B 5/16" DIA. TEKS SCREW FULL* L
] e © | & Ll |
ﬁ_@ I e 5/16" DIA. DEWALT DRIL-FLEX FULL* 1"
. [ [ .
i < Tp D 5/16" DIA. ELCO ULTRACON 13/4" 21/2"
3?]‘ e 2 CONCRETE
(4000 psi min) E 5/16" DIA. ITW TAPCON+ 13/4" 212"
. A D 5/16" ELCO ULTRACON 2" 11/2"
T \l T T Y T
| | | |
| n ol | o o 1 WOOD E 5/16" ITW TAPCON+ " 11/2"
1l NP e—— e g ] b i (3", S.G.=0.5 min)
| | ] )
i i & | D @ F #14 WOOD SCREW > 1172"
|| = ====n || == - (Fu=120 ksi min)
H g _¥_J i I !__?_J * FOR FASTENERS IN STEEL, FASTENER THREADS MUST FULLY PENETRATE THE WALL
. Tt ) [ ! . 3 THICKNESS OF THE STEEL, WITH THREE ADDITIONAL THREADS BEY OND.

-, >
Ty X
= Ay
< !!!: T ot
7 L3pniVig
[ M ©
Z ZMao
- Z <
gy HIRES
L
Ew Yoo -
o sRESN
© o [}
g zNTIo
e g Fu g
L ~m 8
Ed own<o_2
o xO s
- O3
™ ESSd<
7] Rt
g 278
QE
PRODUCT:

1600 WALL SYS 1
2 1/2” LEVEL E

DWG:
1600—IR-LVLE
SECTION:
6
SHEET:

7/10




HEAD/SILL ANCHOR DETAILS

ANCHOR TYPE 2 - 2475 |b MAX REACTION

MIN. EDGE

ANCHOR TYPES l
A, B, or C l
! | 9
7 I/ ! L /!'/{/
LT il 1
o
11
] i
] Fa !
T T
Ll_ __________ _14
L i i |
A
\
STEEL
A
\/
r—="==-" |
rh———————— e -
Ll 1]
I
I
. 1
| I
|
]In
1

T
LLLL 2L L 2L I/

3
~

4” 3/4”

%
N
M
| 1 3
'& Bi : @ @ } : ‘
| | { 5
! ! [ N
| | | M
| | |
{ } { < i
o e © !
T 1 N —————
| a
g N
M

DISTANCE

ANCHOR TYPES
G or H_\

+5<

REQUIRED FOR
WOOD SUBSTRATE

ONLY.

TN
| I
| |3 g
| | e
| | e ’
] I |__?_J'
"_ii |- N

Y/ G/ G/ G/ T/ /PN

8
Bi=
NF=
i af o] ] e
3
MIN. EDGE MIN. EDGE o N R R
DISTANCE DISTANCE [
ANCHOR TYPES N
‘ D, E, or F. o
(=]
. 3 Ll
. El2
< S|4
m
y : a2
T 2 | N
I . I . 1 A
} Al e =3
| =z m | | = m 2 2 g
| Sl= == = rEs]
[} Ll o 7 T a | &
__________ = - - o
__________ ad JE S ——— | = < W
(@] <+ Z
s ==
o Rx
=z 8E
WOOoD I I I 8 S
- x
=z
Z <
__________ =
__________ =4
1 |
| ;
¢ i
| N
I A E N
38
4.. or")
. <3, w
a gg
v 4
50
o8
N 8%
n=z
HEAD/SILL ANCHORS E
QUANTITY MIN EMBED| MIN EDGE
SUBSTRATE MARK TYPE MULLION| JAMB (in) DISTANCE (in)
A 5/16" DIA. F-TYPE SCREW 4 4 FULL® | [ el
STRUCTURAL STEEL (Fu=120 ksi min)
(1/4", A36 min) B 5/16" DIA. TEKS SCREW 4 4 FULL 1" LELE
o B8
C 5/16" DIA, DEWALT DRIL-FLEX 4 4 FULL* T 0y Eoodl
N B2 22029
oON_"O
> G |3/8" DA. DEWALT SCREWBOLT+| 4 3 34 3 2. &IFST
CONCRETE Ee p3o.9
(4000 psi min) H 3/8" DIA. SIMPSON STRONG-TIE 4 4 31/4" 3 AL §v§§ £
TITAN HD 2 P2
D 5/16" ELCO ULTRACON 6 4 2 11/2" W
PRODUCT:
WOOD E 5/16" ITW TAPCON+ 6 4 ¥ 11/2" 1600 V[ALL SYS 1
(3", $.G.=0.5 min) 2 1/2” LEVEL E
F #14 WOOD SCREW 6 4 o8 11/2" DWG:
(Fu=120 ksi min) 1800—TR—LVLE
SECTION:

* FOR FASTENERS IN STEEL, FASTENER THREADS MUST FULLY PENETRATE THE WALL

THICKNESS OF THE STEEL, WITH THREE ADDITIONAL THREADS BEYOND.

6

SHEET: 8/ 1 0




BILL OF MATERIALS

BILL OF MATERIALS GLAZING MATERIALS

NO. [PART NO. DESCRIPTION DIMENSIONS MATERIAL NO. | PART NO. DESCRIPTION DIMENSIONS MATERIAL
01 162311 "F" ANCHOR 3.250 x 8.000 x 0.250 6063 T6 ALUMINUM 81 162310 THERMAL SEPARATOR 0.626 x 0.600 SHORE "A" 605 DUROMETER EPDM
02 162312 "T" ANCHOR 3.250 x 8.500 x 0.250 6063 T6 ALUMINUM 82 027845 TAPE 0.313 x 0.250 BLACK POLYURETHANE FOAM
03 162006 COVER 2.500 x 0.504 x 0.060 6063 T6 ALUMINUM 83 128406 1/4 x 1" HWHTFS AB 1/4 x 1" HWHTFS AB 300 SERIES STAINLESS STEEL
06 128405 #12 x 7/8" AB FHTF #12 x 7/8" AB FHTF 300 SERIES STAINLESS STEEL 84 N/A STRUCTURAL SILICONE SEALANT N/A SILICONE
07 128394 #12 x 1-7/8" TYPE | CRPHTFS B #12 x 1-7/8" B PHTF 430 SERIES STAINLESS STEEL 85 027850 FIXED GASKET 0.615 x 0.630 SHORE "A" 60+5 DUROMETER EPDM
08 162332 7-1/2" HEAD / SILL SHEAR BLOCK 4.395x2.115x0.125 6063 T6 ALUMINUM 86 027342 SETTING BLOCK 0.563 x 0.188 SHORE "A" 80+5 DUROMETER EPDM
09 162020 OPEN BACK FILLER 0.434 x 4.973 x 0.090 6063 T6 ALUMINUM 87 027081 SETTING BLOCK 1.875 x 4.125 x 0.250 SHORE "A" 85+5 DUROMETER EPDM
10 162517 OFFSET PRESSURE PLATE 2.500 x 0.847 x 0.100 6063 T6 ALUMINUM 88 127254 3M VHB 3/4" SG TAPE B23 0.750 x 0.090 CONFORMABLE ACRYLIC FOAM
11 162091 7-1/2" OPEN BACK HORIZONTAL 2.479 x 6.500 x 0.100 6063 T6 ALUMINUM 89 128475 8 x 1" TYPE | CRPHTFS A 8 x 1" TYPE | CRPHTFS A 300 SERIES STAINLESS STEEL
12 162378 7-1/2" SHEAR BLOCK 4.395 x 2.270 x 0.125 6063 T6 ALUMINUM

91 N/A DOW CORNING N/A 995 SILICONE SEALANT (BY OTHERS)
14 162003 LIGHT 7-1/2" VERTICAL / HORIZONTAL 2.479 x 6.500 x 0.100 6063 T6 ALUMINUM 92 127143 TAPE 1.000 x 0.250 BLACK POLYURETHANE FOAM
19 028843 #12 x 1/2" TYPE | CRFCHT SB #12 x 1/2" TYPE | CRFCHT SB 300 SERIES STAINLESS STEEL 93 127150 SETTING BLOCK 1,688 x 0.437 SHORE "A" DUROMETER EPDM
20 162528 1-5/16" PERIMETER OFFSET PRESSURE PLATE 2.500 x 2.097 x 0.100 6063 T6 ALUMINUM 94 027367 SETTING BLOCK 0.750 x 0.438 SHORE "A" 85+5 DUROMETER EPDM
21 162095 7-1/2" OPEN BACK HORIZONTAL FOR 1" FRAME 2.479 x 6.500 x 0.100 6063 T6 ALUMINUM 95 127196 SS EXTERIOR GASKET 0.928 x 0.615 SHORE "A" 60+5 DUROMETER EPDM
22 162516 JAMB OFFSET PRESSURE PLATE 2.500 x 0.847 x 0.100 6063 T6 ALUMINUM 96 128401 10 x 1" TYPE | CRFCHTFS 10 x 1" TYPE | CRFCHTFS 300 SERIES STAINLESS STEEL

97 027857 FIXED GASKET 0.310 x 0.360 SHORE "A" 70+5 DUROMETER EPDM
26 162004 HEAVY 7-1/2" VERTICAL / HORIZONTAL FOR 1" FRAME | 2.500 x 6.500 x 0.100 6063 T6 ALUMINUM
33 128348 10-16 x 1-1/4" FHSMD 10-16 x 1-1/4" FHSMD 400 SERIES STAINLESS STEEL
34 162307 7-1/2" SLEEVE 2.260 x 4.750 x 0.125 6063 T6 ALUMINUM
35 128267 12 x 1" TYPE | CRPHTFS AB 12 x 1" TYPE | CRPHTFS AB 300 SERIES STAINLESS STEEL
36 162313 SLEEVE FOR EXTERIOR COVER 3/4" 2.219 x 0.187 x 0.031 .031 5005 H32 SHEET ALUMINUM FINISH
37 162306 6" SLEEVE 2.260 x 3.250 x 0.125 6063 T6 ALUMINUM
38 162301 MATING STEEL REINFORCING 1 1.750 x 4.560 x 0.164 GRADE 50 STEEL
39 904208 1/4 x 2" FCHTCS DIF 1/4 x 2" FCHTCS DIF 300 SERIES STAINLESS STEEL
40 162302 MATING STEEL REINFORCING 2 1.500 x 3.810 x 0.164 GRADE 50 STEEL
41 162303 MATING STEEL REINFORCING 3 1.250 x 3.388 x 0.164 GRADE 50 STEEL
43 162320 7-1/2" SHEAR BLOCK AT DOOR 1.460 x 2.270 x 0.125 6063 T6 ALUMINUM
44 128910 10 x 1/2" TYPE | CRFCHTFS B 10 x 1/2" TYPE | CRFCHTFS B 300 SERIES STAINLESS STEEL
45 977110 10 x 5/8" TYPE | CRFCHTFS B 10 x 5/8" TYPE | CRFCHTFS B 300 SERIES STAINLESS STEEL
46 028596 3/8" FLAT WASHER TYPE A - NARROW DIA 0.750 x 0.040 300 SERIES STAINLESS STEEL
47 028779 3/8" HELICAL SPRING LOCK WASHER DIA 0.869 x 0.125 300 SERIES STAINLESS STEEL
48 028778 3/8"-16 x 1-1/4" HCS B 3/8"-16 x 1-1/4" HCS B 400 SERIES STAINLESS STEEL
52 128392 3/8"-16 HEX LOCKNUT 0.563 x 0.650 300 SERIES STAINLESS STEEL
57 128284 #12 x 1 1/2" AB FHTF SCREW #12 x 1 1/2" AB FHTF 400 SERIES STAINLESS STEEL
59 162218 3/8-16 x 4-1/2" PRHHMS 1.125 x 6.848 x .125 400 SERIES STAINLESS STEEL
61 162249 #12 x 1 1/2" AB FHTF SCREW 1.125 x 7.598 x .125 400 SERIES STAINLESS STEEL
65 162341 ANCHOR PLUG 2.250 x 4.750 x 0.25 x 3.000 6063 T6 ALUMINUM
66 162249 STEEL ANGLE ANCHOR 6.000 x 4.000 x .313 x 4.250 50 KSI STEEL

h2,/18/20

REV.#| DATE

1ST SUBMITTAL
PRINTS ISSUED FOR

LT
VA7

q8%?

5%

ot

AN ARCONIC
COMPANY

PH: (770) 449-5555
WWW.KAWNEER.COM

" KAWNEER

555 GUTHRIDGE COURT
NORCROSS, GA 30092

nkilgﬂﬂs;

e
-
£

’/
&
-

x Hy o,
S

s <
o | . \\;
2 fegggpnid
n I
[ M
ZzZ ZMo
Z e
0 ¥ _o
23 HIRC L
Em Yoo -q
oo £ T
a8 oR*s
g zNTI
T A
b, w= hg
Fe wgo_2
S E8-3x
o EE-IZ
7] SYNE
g boy
= T
gn.

PRODUCT:
1600 WALL SYS 1
2 1/2” LEVEL E

DWG:
1600—-IR—-LVLE
SECTION: ~

SHEET:

9/10




3190 |[#A3d]  ¥04 Q3NSSI SINIA zoo.muuz\s,mx.;;; 26002 VO SSOMOMON [ M ayviies e “m o
= G— 0LL) *H 13N00 F9AIMHLND SSS Sanel 0 e o e
0z/81/Z WLLINGNS ISt | 5995 ~6vY ) Hd Sy A7 m,\..”«m\O\\MmmeNN (se)xvi/kd | 8B 4 M? >
= = ey 2 o OZWES 14 ‘HOV3AE WIVd 1Sam
I — ANVANOD uu\%.. O F1lvls .qnm.,.zm,‘mﬂm_ﬁm :VNQ SW ._L W
=0 YR = & v0d
== = OINOOJYV NV = X “Puoz_muuz_uzu SHIALTOM mm =] =i
———= = = K ., = |
| - _ = R =3 .
= S & veez9 #3d 14 EF SE |.
—— = = < SyilloM 1103S Do ©F [&
> & AS i |l [
W - %, S S BB B
i B _ % <L (07 Yivas EoaE B oHE
n«..\\mu L iy \r\v\wwf/
agpyppantt
s
2 _
e _ £L6 « _
T s ‘@
T .
8
o
__ 0020 b
8
o
d | ]
o
.L60°T
. . 0SL
- o
e L9810 m @
«S2TL0 in ‘
1 ®
<
o e g
) SHT G
S
of 1
: ®
o
: i g 5 u __ 6120
3 2 S e
.090°0 < o
G u I ®
¥ | |
.005°9
050
o)
Emgla : - ®
g 3
0520 o ) =
T ] _ 02T _ * B
. -
5] == .005°9 I
o
3 ®
13 |Ij0 lo 4u
1 ©
o -
—_— -
_ .082°¢ o)
O
o~
. 0010
% E
5 S
2 u e Bl
S -
et —— A .0sz0 *
LL
0 .005°9 |
o
Z .
o) . 5 : §
—— e m M [} -HOU
2 | [~ | ®
- : o
% 3 (® ©
=
= — | H *
X I .05z |
L A e 005’9 |
.0S2°€ _




